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. <i>x</i> - <i>y</i> =180

.45
55
40

100<sup>o</sup>
60<sup>o</sup>
80<sup>o</sup>
40<sup>o</sup>

20<sup>o</sup>
. 70<sup>o</sup>
. 100<sup>o</sup>
. 110<sup>o</sup>

80
110
100
95

70<sup>o</sup>
60<sup>o</sup>
75<sup>o</sup>
65<sup>o</sup>

89
90.9
89.9
105

50
30
45
40

<i>x</i> only

. <i>y</i> only

. <i>x</i> and <i>y</i> only
. <i>y</i> and <i>z</i> only

.70
.45

.40
.65

<i>x</i> + <i>y</i> =180

. 180 &lt; <i>x</i> + <i>y</i>&nbsp;<
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. Insufficient information
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15
25
35

. 45<sup>o</sup>

. 36<sup>o</sup>
46<sup>o</sup>
35<sup>o</sup>

&lt;
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200
220
210
190

30
45
40
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If 5 years are added to a man present age and that age is tripled, he will be 84. What is his
present age ?

13 Years ago Shabbir mother was 7 times as old as he was. She is now 48 years old. How
many years old is Shabbir now ?

A man was 26 years old when his daughter was born. Now, he is three times as old as his
daughter. How many years old is the daughter now ?

When 42 is added to twice a number, the result is 346, the number is:

A man present age is x years. If his age in 8 years will be 4/5 of what it will be in 20 years,
then his present age is:
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39

18

32
54

28

38
20

. 22 years

15 years

.12 years

304
242

265



